&3 =
Qg
=T
W_umo
C =
= = e
OIS = =
= s
=
" mE =3
EHE : :
| _ -5 M
w PEEBE8BET © x
ol ﬂ_u
<lgligl T -
0
P *
=z RO RO m_.
ior | &l [ s
B0 < <
F 2 X
o Bo
I q
ull 4_._.% K
K =

A A )




~
,_OL (Tl

5
A A, B,C, D, E

[}
gt = el

[o)
ol

ol
St
.

Tor

13
of

<t
Lot 57 €]

J| =o
T %

HA2.

5|

=
N
E —_—
|5
me 0
< %
4]
% . |
Q| ®

7O T T

.

ul



st
8.2,

[¢]

Bt A5E 24

2
o<l

o %
]
=

. =
e o 0 o0 0 1(_.\
° . OO__o_l
° ° ° ° A_I

o o ° Ne)

o e
o e <A
° °o o
L) [aN|

0
8
6
4
2
0

-

ull

A=A A ol Gl el Aet e 9% <)

<)

R
T

0 2 4 6 8 10




4. 27 Aok vt A 16 0] ul& 5 Bot F WHEY] 4N 1

A o
27| A& ZAbsto] Uerd AP o) T1e]7] AAE o 9]
4ol o we S50l 12)7] 42 0] Bag T L.
1
2] 10 1t
7*| 9 e o
(thq) 8 . o o °
7 e o
6 o o o °
5 o o
:Itlp >
056 78 910
THE71(R)

2
% — 6470},




=13
=
s} 10 —
7l 9 +—o
(XE-D 8 ° ° ° °
7 °
6ﬁ °

0“6 7 8 9 10
=71(3)

[ 2
> HE: 50%

A BZhg Slof Sl A Aget Zonz 5Y

> x 100 = 50%
10

<

Y},




